Use of glucose in cell respiration to make ATP

/
( 1 molecule glucose

Glycolysis -
byproduct 1= c:) A’?
! ! byproduct 2=l NAD \—\z,

Main product = g Et{rhv ow?uch goes on to :> If NO Oxygen:

next step IF Oxygen present!

@ Fermentation (anaerobic)

Pyruvate b _ Y byproduct 1= Q@ AV
yproduct 1 =0 NRDWRZ pel
conversion byprOdUCt 2 = a Coz_ byprOdUCt 2= sa(‘h( Cxué (\d("'Q"'Q

@ \ Coft

3 el
Main product , Which goes on to next

step. ! !

Kreb’s cycle

-~
C
3
-
Q.
o

O

byproduct 1 = (0 NP"D\'\Z
byproduct 2 = & FADYZ £

byproduct3=Y4 (04

! ! byproduct 4 =& ATY

Electron byproduct 1 = 10 NAD
transport byproduct 2 = 2 YAD
chain byproduct 3 = I HZ 0 T?

byproduct 4 = 20-%2 K

How much ATP made? y’\ - ;(0



